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Note that the result is valid for all values of s; hence the region of convergence is
the entire s-plane. The abscissa of convergence is op = —00.
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We get the first term only if Re ¢ > 2, and we get the second term only if Re
(s) > —1. Both conditions will be satisfied if Re (s) > 2 or og > 2. Hence:
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2. Lot 4.1-3

(a)
28+ 5 2s+5 1 1
X(s) 32+58+5=(3+2)(s+3)=s+2+s+3
z(t) = (e +e *)u(t)
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This is an improper fraction with by = b2 = 1. Therefore
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(a) Using the differentiation in s property,
Lltz(t) = —;;X(s).

(b) y(t) = tz(t) = tlu(t) = u(t). Thus, Y(s) = J2 ult)e~*tdt = Jooetdt =
o= wo. For o > 0, this simplifies to Y{(s) = .
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(c) Combining the previous two parts yields -f,-X () = 1. Thus,

X(s) = —-[ %ds = —In(s).




5. Lathi 4.4
Figure S4.4-1 shows the transformed network. The loop equationsﬁarei
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Cramer’s rule yields
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6. Lot 4.4-3
'i‘he impedance seen by the source z(t) is
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The current Y(s) is given by
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problem 5 emthnued ...
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